5 Port Mechanical Valve
Metal Seal

VZMA400 Series

Compact design,

large flow capacity

High cycle rate,

long life/300 c.p.m. or less

Piping possible to any EXH
port.

Proper countermeasures can be taken
for applications in which the noise of
the exhaust could cause problems to
the surroundings.

Pilot type is selectable.
(Internal pilot and external
pilot)

fFifmiis

Specifications
Fluid Air
Op! ing pressure 0.15t0 1.0 MPa

Ambient and fluid temperature

Flow rate characteristics

—5 to 60°C (No freezing)
b

Cldm®/(s-bar)] Cv
[1(P)—>2(B)/4(A) 2.0 0.14 0.49
| 2(B)/4(A)—>4(EB)/5(EA) 1.7 0.25 0.44

Maximum frequency (Mechanical operation type)

300 c.p.m. or less

Lubrication

Not required (Use turbine oil class 11SO VG32, if lubricated.)

Port size

Main valve/ /g

Pilot valve (EXH)/M5 x 0.8

Option

Foot bracket @

Note 1) External pilot type Main valve: 0 to 1.0 MPa
Pilot valve: 0.15 to 1.0 MPa

Note 2) The standard body can not be retrofitted with a foot bracket.

Model
Actuator Model ﬁ:‘rlljitg.r Application WF;N
s Basic VZM450-01-00 - — 120
= Roller lever VZM450-01-01 VM-01C Polyacetal roller 160
g VZM450-01-01S VM-01CS Hard steel roller 170
o - - - |
= | One way roller lever VZM450-01-02 VM-02C Polyacetal roller 170
L VZM450-01-028 VM-02CS Hard steel roller 180
8 [Straight plunger VZM450-01-05 VM-05C — 200
3 Roller plunger VZM450-01-06 VM-06C Polyacetal roller 200
= plung VZM450-01-065 VM-06CS Hard steel roller | 200
Toggle lever VZM450-01-08 VM-08C — 190
VZM450-01-30R VM-30CR Red
VZM450-01-30B VM-30CB Black
Push button (Mushroom) | 7y1456 01-30G VM-30CG Green 199
< VZM450-01-30Y VM-30CY Yellow
2 VZM450-01-32R VM-32CR Red
o VZM450-01-32B VM-32CB Black
g |Push button (Extended) 711450 01-326 VM-32CG Green 102
E] VZM450-01-32Y VM-32CY Yellow
g Push button (Flush) VZM450-01-33 VM-33C With a set of red, black, green, yellow | 197
VZM450-01-34R VM-34CR Red
. VZM450-01-34B VM-34CB Black
Twist selector (2 position) VZM450-01-34G VM34CG Green 198
VZM450-01-34Y VM-34CY Yellow
Key selector (2 position)| VZM450-01-36 VM-36C — 217

Note 1) Actuator replacement is available for all types.

Note 2) For push button (mushroom), push button (extended), push button (flush) and a single unit of
fastening ring, refer to pages 1481 and 1482. The other parts are not replaceable.

Note 3) The handle of the selector (2 position) cannot be removed or replaced alone.

1449

Best Pneumatics 2-6 Ver.7



VZMA400 series

Port size 00 Basic
01 Rc Vg 01 Roller lever
NO1 NPT /8 02 | One Way Roller Lever
FO1 G/ 05 Straight plunger
06 Roller plunger
Body option 08 Toggle lever
[ 0 | Internal pilot type | 30 | Push button (Mushroom)
n 32 | Push button (Extended)
33 | Push button (Flush) Nete 1)
34 | Twist selector (2 position)
36 | Key selector (2 position)

Construction

How to Order

vzm4s [0]-[01]-[01] —T—Q
Made to Order

(Refer to pages 1474 to 1477 for details.)

[x207A]

Alternate type, Mushroom push button \

x2194]

Push-lock turn-reset type, Mushroom push button \

Option
Suffix for actuator*

Foot bracket
(Only internal pilot)

Hard steel roller

L—————e Actuator type*

Red

Color of

push botton

Green|” selgctor

S
R
B | Black
G
Y

Yellow

= Refer to the table on page
1449 for combinations of
actuator type and suffix.

Note 1) When selecting the flush type, it is not necessary
to select the suffix for the actuator.

Non-actuated

A -
B W

Actuated

EA

@

;ﬁu
5

o

M=o 4]

H—

==

Component Parts

No. Description Material Note No. Description Material Note
1 | Body ADC Platinum silver 10 | Valve NBR
2 | Pilot body PBT ZDC only for external pilot type 11 | Piston guide B Aluminum alloy
3 | Head cover ZDC Black zinc chromated 12 | Return spring Stainless steel
4 | Sp Stainless steel 13 | Cushion Rubber
5 | End cover POM 14 | Cushion Rubber
6 | Piston A POM 15 | Valve spring Stainless steel
7 | Plunger POM 16 | Return spring Stainless steel
8 | Valve seat (A) POM 17 | Piston B POM
9 | Valve seat (B) POM

1450

Best Pneumatics 2-6 Ver.7



5 Port Mechanical Valve ;
Metal seal VZIM400 Series

VZM400 Series

Basic.”vzM450-01-00 Brow=s
1 »
==k
30
2x03.8 M5 x 0.8
‘Accessory mounting hole (Pilot exhaust port)
) Symbol
| (A) (B)
n < 4] 2|
) L 14 12
S I - 5113
N4 o o (EAXPXEB)
B F— ™~
i) <!
) =
| ool
N~ # 0.5 MPa supply
T F.O.F.* 16N
g’l‘_ P.T. 1.0mm
2x 3.5 mounting hole 5218 O.T. 2.0 mm
T.T. 3.0mm
Roller lever” vzm450-01-01-VZM450-01-01S
(37) 214 polyacetal or head steel roller
33
16.5 R
17 HEe
—— '/ 0 |Oj—
L~ M5x0.8_
& (Pilot exhaust port)
~ 09 f
ol o
© : T Symbol
' | ‘ ymbol ™ @
e ] 4
[ i il )
< 14 12
¥ 2 (EE)(;)(GEB)
o e =1
iR
19 7 |l
: ) 1
i — - 0.5 MPa supply
225 2 -
FO.F.* 8N
/L1
267 Sx1/8/| 18, | P.T. 2.2mm
30 o
2 x3.5 mounting hole T, 4.0 mm
T.T. 6.2 mm
One way roller lever,”vzm450-01-02-VZM450-01-02S
©14 polyacetal or head steel roller
iR
Qo
!
M5 x 0.8
~ (Pilot exhaust port)
IN il
™ =
| T ﬁ o Symbol
o @) €
Z ) 2)
e B PSS
~ N © ol |2 (EAPXED)
- S 1
[a9) <
® L 7
o| [jo¢x dy % B ©
y b e} | ~ # 0.5 MPa supply
8 225 7 F.O.F. * 7N
13 26.7 5x1/8/|78 P.T. 2.4mm
23,5 mounting hole, 30 o.T. 4.6 mm
T.T. 7.0 mm

1451
Best Pneumatics 2-6 Ver.7



VZMA400 series

VZM400 Series
Straight plunger.”vzm450-01-05

KeE| . ees
0 ho|
T e
| 4]
| =
I o
il g€
Pl =
|
~ & ‘ @
™ |
P R 7
Mt |2y
| 22.5
1 26.7
2 x 3.5 mounting hol¢ 30

M14 x 1

Hexagon nut thick 8,
across flats 22

M5x0.8 _

\\g B 4.P
pM17.8[14 114

(Pilot exhaust port)

Panel mounting hole
&

s
d E Min. 2.5
Max. 9.5
Symbol
(Ag (Bg
14 12
5l 113
(EAYP)EB)
# 0.5 MPa supply
F.O.F.* 18N
P.T. 1.5 mm
O.T. 2.0mm
T.T. 3.5 mm

Roller plunger,”vzm450-01-06 - VZM450-01-06S

M14x 1
Hexagon nut thick 8,
across flats 22

M5 x 0.8

(Pilot exhaust port)

=] @12 polyacetal or head steel roller
=
L 10
1o
~lo
B
©
~N
o —
[ =1 il
AEl
s ! 9
1 j‘é—rff @
]
ng,ﬁ
267
30 5x1/8
2x3.5 mounting hole,

Panel mounting hole

7 §

Min. 2.5
Max. 9.5
Symbol
(A) (B)
4] 2|
14 12
sl 113
(EAXP)EB)
# 0.5 MPa supply
F.O.F.* 18N
P.T. 1.5 mm
O.T. 2.0 mm
T.T. 3.5 mm

Te le lever,vzm450-01-
oggle leve 4 50-01-08 T.T. (Total Travel)

]

2xM14x1
Hexagon nut thick 5,
across flats 17

M5 x 0.8
(Pilot exhaust port)

E3
36

e=p

13.8

17.8 \_14|w4

5x1/8/)

2 3.5 mounting hole 30

Panel mounting hole

@ |

Max. 4.5

Symbol

@) ®)
14\ 12

51113

(EAXP)EB)

# 0.5 MPa supply
[ FOF* ] 15N |
| TT. | 40° |

1452

Best Pneumatics 2-6 Ver.7




5 Port Mechanical Val
ort Mec anl\;l?tal ge‘;"i VZM400 Series

VZMA400 Series
Push button (Mushroom),~vzm450-01-30R/B/G/Y

040 = H| Panel mounting hole
L‘—j o) S| -
— — 1 '
)
J—— o o i R I~ i —
I O I I « I I Max. 6
L J ( [l L | wmsxos
== == == ] =5 S5/ (Pilot exhaust port)
@,’ °
= 5l B4 Symbol
8 r |
3| sl (AX (5]
) L
& e O 14 12
C) T 2 3 (EE)(;)(GEB)
~ R | g O+—
D S
] b :
o t
Rl i |-
@ 0.5 MP I
EIRIR 2‘ 225 | S : ]
2l =2 @ > F.OF.* 21N
13 267 1 5x1/8 18 P.T. 4.8 mm
2 x 3.5 mounting hole = oT. 1.7 mm
2155 Mouning e, TT. 6.5 mm

Push button (Extended),“vzm450-01-32R/B/G/Y Panel mounting hole

= ki

PT
0T
T

1|
‘ JIIRIRIRRIEAA Q @' —-H—M
L J L J wsxo8
a i h = (Pilot exhaust port)
B0 Symbol
o8 [ "9
g B ol 14 12
= © 5113
D 2 < (EAYPYEB)
~ o o ©| E< -
= &3 g
N 3
! [

# 0.5 MPa supply

23.3
e

3 @ 2 @
% § 225 ; ~ F.O.F.* 21N
13 26.7 5x 18 18, P.T. 4.8 mm
2 x 3.5 mounting hole 0 O.T. 1.7 mm
T.T. 6.5 mm
Push button (Flush),”vzma50-01-33 Panel mounting hole
038
023 b = E
2 3L b o) of = %
d S [T\
NI T Max. 6
i ]| ord
G2 ) €5 2
° M5 x 0.8
] " (Pilot exhaust port)
P B0
g — Symbol
&l T - ®) @)
-2 % of
s o - 14 12
I\I | o B{ b 50113
p 3| ™| & (EAXP)EB)
) T
m H ! I
il i o
| H p # 0.5 MPa supply
uoI 225 @ 2 F.O.F.* 21N
o
13 - 26.7 - 18 P.T 4.8 mm
O.T. 1.7 mm
30 1
2 x 3.5 mounting hole /5x1/8 T.T. 6.5 mm
1453

Best Pneumatics 2-6 Ver.7



VZMA400 series

VZM400 Series

. . 1. oN
Twist selector (2 position),~ vzM450-01-34R/BIGIY Panel mounting hole
. D
- ) D
o ) i
OFF 39 Max. 6
M5 x 0.8
(Pilot exhaust port)
Mu Symbol
A —
LD (A) (B)
 —— 4| 2|
14 : 12
5113
— (EAXP)EB)
o B
L N P |
a g
o] o L el
J— o |
Bl o
|| ] s
2] el o &
L A,
3Ll o 225 o) . ‘ Jd2 @
1Bl ] o 267, 9 .18, - 0.5 MPa supply
2x35 mouning hole/ -+—22 5x1/8 } FOF. } 2N }
Key selector (2 position),vzm450-01-36  on ‘ Panel mounting hole
:: \\ g D
oFf M5 x 0.8 —~1.Max. 6
39 (Pilot exhaust port)
=
v V| WV
- ‘_, g
mfm_» Symbol
- ® ®
° = 4| 2|
r = 6 |
g 14 12
q = (ERYPIER)
g — -9
— o =
Rl i
g || e b
o A,
3L o 25 | o) A2 2
B d 267, 9 e 1 8| v
2 x 3.5 mounting hole 30 X * 0.5 MPa supply
[ FOF.* 26N
Key can be removed at the “on” and “off” positions. ‘ TT. ‘ 90° ‘
External pilot type With foot bracket
VZM451 type VZM450-01-CJ]-F
M5 x 0.8

(External pilot port)

61.8

1454
Best Pneumatics 2-6 Ver.7



VM series
Made to Order 1

Please contact SMC for detailed dimensions, specifications and lead times.

Alternate Type, Mushroom Push Button

Alternate type: When pushing the push button, the valve actuates and will hold its position even after the button is released.

to|
Heer

Pushing the button again will return the button and valve to their previous position. 0
o
VM430-01-30(R/B/G/Y)-X207A § - Panel mounting hole
EHE:
32
040 5| ©
—— 85 &
— | | %) .
0.8107.5
1)
i
S Symbol
g (ouT)
& g 10EY 12
% N (N 01)(3N C)
I L0.)(N.
% 2 8 SMCIVM4 ®| © ;
Farul ~ b
g B N ® &
3x1/8 g 25 1
X ~
35 4 x 4.5 mounting hole * 0.5 MPa supply
I FOF.* | 26 N |
VZM450-01-30(R/B/G/Y)-X207A P
5 Panel mounting hole
ER
Qo
© 2
ot0 % 7| 8
s B~ 55
= 8
Y @
o o M5 x 0.8 ) @)
N (Pilot exhaust port) 2|
EF@ N 14p 12
L i PR LA 5l 113
| I [N [ <+ (EAXP)EB)
b1 —| T 710 -
>
N @ ©
SRR J e
AR, - =
© @ @ sx18/| @
gl ol & 25 e #
13 26.7 18
2 x 3.5 mounting hole 30 * 0.5 MPa supply
[ FOF* ] 16N ]
0
VZM550-01-30(R/B/G/Y)-X207A ©
g
o|w
0 Q g
: x
240 * i Panel mounting hole
) ~ 3] ®
3 B
' @
ot M5 x 0.8 ‘
& (Pilot exhaust port) 08t07.5
SEEry Q|
[ o o ¥ B¢l o Symbol o
EH [ N e e 2o 4
at | T o |
o ~ w| ® P - 14 12
3 L = B K 513
he 3 (RTYPYR2)
i - Vid|
® © o ~
e Qi 2 l21] ¢ sxis/ || 16 ¥
L 25, 18]
* 0.5 MPa suppl
2 x 3.2 mounting hole 28 _ s
[ FOF* | 21N ]

1474

Best Pneumatics 2-6 Ver.7



VM series
Made to Order 2

Please contact SMC for detailed dimensions, specifications and lead times.

Alternate Type, Mushroom Push Button

wn
VFM350-02-30(R/B/G/Y)-X207A I
s Panel mounting hole
E=1
0 < 2 |-
40 - = ‘
e ‘ X Sl a
081075
8
3 Symbol
org M5 x 0.8 ©2)(c1)
B Pilot exhaust port) &Emﬁ%%
bl < b 14 12
g 5 1/3
5|3 ® (E2(S)EY)
Nl 3= 61— 2
o' A\ [ —a° B -
& i RS %
2} [ & i
' o
__ 3x1AN 30.5 || \2 x 4.2 mounting hole {264 2'_ 8
(1P,2B,4A port) 35 m *0.5 MPa supply
' [ FOF* | 2iN ]
o
VFM250-02-30(R/B/G/Y)-X207A ©
S Panel mounting hole
I
0 o Qe
2 <
40 - S| 2
Lﬂ;—‘ X Sl o
o
bt EEL* M5 x 0.8
"’(8 (Pilot exhaust port) ) (Bz)
b ® jm‘] i 14EY 12
| < 8 5/ 1(3]
B o8 T« (EAYPNEB)
=BT ps S| T &
8 P SR &3
13 g |
o - 5
< bt
4 55 28 5 x Rel/4, >
40 3 x 4.5 mounting hole 25 ‘ *‘0'5 MPa supply ‘
F.O.F.* 21N
1475

Best Pneumatics 2-6 Ver.7



VM series

Made to Order 3

Please contact SMC for detailed dimensions, specifications and lead times.

Push-lock Turn-reset Type, Mushroom Push Button

Push-lock turn-reset type: When pressing the push button, it is locked in this status. Turning the button clockwise will reset it.

VM430-01-30(R/Y)-X219A g
© .g Panel mounting hole
x
040 K
“ " Bl
Eg: | |
x| ol
PR
| For 0.8107.5
T
s
< (ouT)
= 2|
& g 0B 12
S e ;
© (N.O.XN.C))
% © 8 suolvial | ©| €&
o = /\ = folini] g
i 2 o
0
3x1/8, < 25 21
35 4 x 4.5 mounting hole + 0.5 MPa supply
FOF.* | 26N
VZM450-01-30(R/Y)-X219A é
7]
o
I § g Panel mounting hole
240 = 3
2 & = (329 -
o
) 0.8t07.5
M5 x 0.8
(] (
& (Pilot exhaust port) Symbol N
35k @ ] “) 2
- 2 ge | |
| 3 < 14 12
[+ = fad - (E/ir’)(;-)(asa)
1 (.
«® @ N
) ) ) 5x1/8, )
& sl o 225 @ Lz =
13 26.7 Nk
2x 3.5 mounting hole/ |_30 * 0.5 MPa supply
I F.OF.* | 21N |
VZM550-01-30(R/Y)-X219A S
© 2% Panel mounting hole
FL‘O-‘ x &la
< : i
S 08t07.5
I M5 x 0.8 910 7
& (Pilot exhaust port) Symbol
9| @ ) (B)
HH —— ol = £ o A2
e - oY S 14 B 12
P i | T %] ERIE
0 ~ ] w0l @ P (RIXPYR2)
@ % ! L @ B
@ @ ] ~
el s ¢ 21 ¢ 5x1/8 16 ¥
13 25 18]
2 x 3.2 mounting hole, 28 * 0.5 MPa supply
I F.OF.* | 21N |

1476

Best Pneumatics 2-6 Ver.7



VM series
Made to Order 4

Please contact SMC for detailed dimensions, specifications and lead times.

Push-lock Turn-reset Type, Mushroom Push Button X219A
VFM350-02-30(R/Y)-X219A g
© E é- Panel mounting hole
- 5|8
240 x ZS
1 o Py = Gii -H-
ZEL 18 0sto75
o of M5 x 0.8
% b _ Pilot exhaust port) Symbol (C2)(C1)
B o & B 4] 2|
R e 14ES 12
| T «©
7\75 E 5 ] E6 ; ENSEN
D
2! L K
3x1/4 30.5 ‘ |26.4] =
(1P,2B,4A port) 35 2 x 4.2 mounting hole 2x1/8 .
el (5EA,3EB port) * 0.5 MPa supply
[ FoOF* ] 21N |

VFM250-02-30(R/Y)-X219A

:

all 55 || 28 | |\8x4.5 mounting hole L]
40 5 x Rc1/4, 23 + 0.5 MPa supply

Panel mounting hole

0.8t07.5
M5x 0.8

w
£
[
?,
Sl - Symbol
Q / (Pilot exhaust port) Y (AZ (B)
E]
T«

(Lock position)

=R

(173.2)

20.4
i
(140.7)
B
20.4

32.2
B
424
—
[ J
b
322 20.4
LY
2o
22

|2
F.OF.* | 21N
1477

Best Pneumatics 2-6 Ver.7



VM Series
Made to Order 5

Please contact SMC for detailed dimensions, specifications and lead times.
Foot Pedal Type 5 Port Mechanical Valve XT34-60/67

e 5 port is added to the foot pedal type mechanical valve.
® Models with lock and without lock are available.

Model Specifications
—————
Model XT34-60 XT34-67 Fluid Air/nert gas
Lock With lock Without lock Operating pressure 0.15t0 0.9 MPa
Weight 0.8 kg 0.5 kg Ambient and fluid temperature -5 to 60°C (No freezing)
Flow rate characteristics C [dm?¥/(s-bar)] b Cv
[1(P) > 2(B)/4(A) 0.76 0.22 0.17
[2(B)/4(A) - 4(EB)/5(EA) 0.53 0.28 0.13
Lubrication Not required (Use turbine oil Class 1 1SO VG32, if lubricated)
Port size Port 1(P), Port 2(B), Port 4(A): Rc1/8
Port 3(EB), Port 5(EA): M5 x 0.8

Il XT34-60 (With lock)

e

(3

54

S

Lock position  Unlock position

(A) (8
2

(72)

51113
(EA) (P) (EB)
2xM5x08 332 2 x Rc1/8 (Port 2, 4)
(Port 3, 5) 1392 | Rc1/8 (Port 1)
) Travel required for operation 3°
3x6.5 mounting hole Full Operating Force 55N
(FO.F) (at 0.5 MPa)
Travel required to release the lock 7°
Force required to release the lock
(FOF) 35N

Locked Unlocked
When stepping on the pedal, When pushing the lock lever with
it is locked by the lock lever, the toe, the lock is released, and the
and held in a locked state. pedal returns to its original position.

LOCK Lock lever UNLOCK

1478
Best Pneumatics 2-6 Ver.7



Made to Order VM Series

W XT34-67 (Without lock)

3 x 6.5 mounting hole

54
W
o
el

B

]

X
8

75
i
)

,
(s
o
O
3
0
71

=3
@,

T

f:M 2xM5x0.8 (Port3,5) / 26.2 2 x Rc1/8 (Port 2, 4)
14 12

38.2 Rc1/8 (Port 1)
3

Total Travel (T.T.) 2.5°
Full Operating Force 55N
(Reference value)(FO.F) | (at 0.5 MPa)

1479
Best Pneumatics 2-6 Ver.7



